Homework Quiz 3A, 9 O'ct 2023 : _ S MA13IM

~ 1. On the grid below; sketch a, graph of a function f(z)-which has the following properties.
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Note many answers are possible; there is not just.one correct answer. . .

(a) There is an essential dlscontmmty at z=2. -
(

(b) hm f(z) =
© f-9=2 |
(d) f(=) is continuous at z = 0.
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3. If h(m) = 2% In(z), find h/(z).
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Homework Quiz 34, 9 Oct 2023 . MAIIM

| 4. Suppose a function f(z) is defined on all real numbers. You are given that there is an
/.}/ /é ~essential discontinuity at z = 3 ‘Describe thls feature of the graph using appropriate
; : limit notation. :
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5. Suppose a population of bacteria is modeled by P(t) = 8000e%%, At what rate is the

populatlon 1ncreas1ng at 4 hours‘?
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6. We see from the graph of y = In(z) that this functlon is increasing on its domain.

; .,—{l é . Show this using calculus.
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